RS SRR R I o AR
— MATERIALAS
ITEM | PEARAPTION REQD| ITEM DESCRIPTION REQ'D
_1 __| PoLE MO I HeuTrAL coMDUCTOR. -
2z | DS\\;NZ BYain /2t kB | e | AeMer. oD b
9| PRAE, wioen 7 || 19 | POLE 4ROUND QIRE *b L. | o
4 | amun ragé— !
2| RIDAE. TN, 15N |
b | eroor nauLATORS ] T -
7| eteEL PN, Y8 x B" 2
B | aAG ‘@nmumc\, 2ty Y f
4 ﬁ)n/g\\,m POLT | F' w Yt 2 |
10| MAZHIME POLT, 9"« 10" Z
1| MACHINE PoLT, P ih® j
- 7| WAYRER, 2vt &R 2
AN v:»,om\ SLOCB\DF -
e ARMOR. ROD %]
1% | TIE WIRE, *b AL 1=
B b | PR WEULATOR. G Y 2
§ | |
e - w ] (0
0 Jo© 59 |
- £ f)@ “
—_ - "" U A e o L _“ !
- IDZ VN
/ \ M@ @ NoTe -
\A@ . Do NOT INeTALLL
e 7
9 Sl CGROUND WIRE. PAGT
® NEUTIRAL (ONDLCTOR.
D 2oTHIG  LoHsTRUCTION
f STANDARD 10 #i1
QQD USED. on ALL LINES
. MMM Y _Xlu PUILT ON HATIONAL
o uuw () i © RECOLRLE LANDS
RELE ) |
N0 b )
_ DATE: TITLE:
“1-1%-11 RI4AP Y 111 LILE TDLE
DRAWN BY: 12900 VOLT AR
[7 rroei))
CHECFKED BY: \\ PRODUCTION DEPT, HOBBS DIYISION
) .
. - JOB: DRAWING NO.r
APPROVED BY: —/
wn».;m“:::_._ {Uel, cPELD. ES-2b

RS LAY




SR ’ _.a .'..,w_...um.q.., '
; ..). " ,..: ...
T VO
5 .—,. ' ,. y
c
) N
£ )
\. .A, .s.l._...\-
G /2 .t
H 8 Lo,
v 4 o’ .. B _v.—.
3 g . '
L & -
PorGG| 7 ESY/A, NOTE 5 ,*
S 6 ' '
T E
u 7
W s
X / ) )
Sy 3 : )
Z | 3 \ _
44 |73 C
cc | 2 ) b
£E g L
N e
HH | & t
d 7 .
. ), ! / £S-/A, NOTE 2
rad IR
P 3
ax | &
” . MoTE - , P!
h__. LLENTER. DHASE OW PANKL WILL HAVE - -
! | EPOXY INAULATOR | KEARMEY * 23015 -24
M:_ _ INo. (REF - REFER. TO DRLLG. E%-29) _
,* ZALL WIRE FROM FoIMNT "U* wWiLL re ,_
» IMSULATED TYPE WIRE oM TRANGEORMER.
) i ’ i FPANK.
‘ : [t e
: _ ___ DATE: TWILE [S/VGLE FO0E 508 5T7A,
. L 7237 L EH TRANS, TLUSTER 1N T
i _414}- . : ti DRAWN BY: (w\b PRIM, LEAD-EAD - IESCO/4BO v ACSR
TO WELL NEAD = T : . - — w\.,h, } N .
. - ¥
, 5 - N : DESIGN BY: \\D CONOCOo
{ —_— o y CHECKED BY! PRODUCTION DEPT, HOBBS DIVISION.
) N ) : o JOB: DRAWING NOX
T Yoo - L . ELEC SPECS £S-9
{ ,_ SRALE: . G
. ‘ ) x - HMONE




CHECKED BY:

SRS RO et
T DESCRIPTION A, B, CHANCE NO. JOSLYN NO, NO,
MFRS, NO, SUB, .
| _A_ | 35 class 6 creosoted pine pole ‘ ,
B 3 1/2" x & 1/2" x 8' treated crossarm | ,
C Migh density wet process porcelain pin insulator /63
D 5/8" x 5" Forged steel pin w/sq. washer, nut, & .
locknut g8/ '
F 5/8" x 12" machine bolt w/ nut (or length req'd) 88/2 i
F 2 1/4" x 2 1/4" x 3/16" x 11/16" hole sq. washer 6813
C 5/8" MF 1, t 2572
H 1/4" x 1 1/4" x 28" flat Crossarm Brace 7/28
J 1/2" x 47 EZ Fetter Drive Log Screw 50875% s
K 3/8" x 4 1/2" carriage Bolt w/ Nut 8634 12 ;
L 3/8" MF Locknut 35/0
M Preformed Aluminum Alloy Armor Rods, size req'd :
N tie wire #6 strong alum. alloy
0 Epoxy Tnsulator (Extension Link) KEARNEY “211607%60 | %
P 35' class 5 creosoted pine pole
R Aluminum double tab Squeeze on Connector ) ] o
for ACSR, Aluminum, or Copper-size req'd KUARNEY SERIES "8/ X
8 | _ 6" Suspension Insulator 66100
T 5/8" Standard Oval Fye Nut o502
U Primary Dead fnd Clamp . . LLO50
" "
W 5/8" x 18" (or length req'd) Double Arming Bolt 8868 :
w/l 8q. nuts
X guying detail - see dwg No, ES-10 for specs.
Y Hot Line Clamp SISZ0AGHF
Z Srqueeze on basket size required X
. i ATE:
: PATE /2-27-7/ TITLE:
ORAWN BY: DPESCHA/PT/ON MATER /LS
E.WINTER
DESIGN BY:

(conoco)

PRODUCTION DEPT.

HOBBS DIVISION

APPROVED BY:

SCALE:
ANONE

JOB:

LLEC SPECS

DRAWING NO.

ES-7

SHEET 1t oF 3

EEREPERIN VA N




m e ———— S——— — - —
] ITEM DESCRIPTION . A, B, CHANCE NO, JOSLYN NO, OTHER NO
W MFRS. NO, SUB,
!
} AA Primary Cutout - 100 amp, 15 KV, 16000 amp fnt, cap.! FZ2XX/0/5G : X
’ BB | _Ceneral Purpose "U" bolt Clamp UESICAGR
w cC Liphtening arrestor, 10 KV
; nb Single phase oil switch, 14.4 KV HGRAW-EDISON KNMC 2
FE split bolt connector, size req'd BLACKBUKN "W SERIES )
1 FF grounding specs, see dwg No, ES-11 & ES-1A, Note 3 .
GG 35' class 4 creosoted pine pole _
N HH Aluminum deadend Preforms for ACSR, size req'd
JJ 30' class 6 creosoted pine pole
. KK OVERHEAD GRND, #4 ACSR - If Req'd - Ref. Dwg ES-11,
FS-1A - Note 3 .
LL ground connector, motor o LYKNDY K ¢€-22 X
MM | 600 vV, secondary lightening arrestor single phase
NN Greenfield Type EF liquid-tight flexible steel -
conduit, size req'd, w/ necessary liquid-tight
connectors, I
00 req'd size LB fitting & cover & pasket -
PP trans former tank grounding n..m«:_n:,: GWS3-/5
v 00 Bird Guards (Insulating boots on transformer bushings) Eﬁhﬂﬂﬂ\m%mmnmm
i
3
t
{
DATE E =
. ; TITLE:
' 12-R7-7/
: PESCRIP £ T
r DRAWN BY: S T/ON MATER/AL
' £ WNTER -
CHECKED BY: PRODUCTION DEPT. HOBBS DI ‘ISION
L __aaa
. JoB! DRAWING NOu.
APPROVED BY: :
e Al e
! FLEC SPECS ES-/
b SCALE: owe SHEET 20F 3
- T




i L.
L4
ITFM DESCRIPTION A. B. CHANCE NO, ! JOSLYN NO, OTHER NO.
d : MFRS. NO, SUB,
a double upset bolt s/sq. nut, round washer, and i
cotter key on short end, sq. nut and MF locknut 7828 M
on long end, 15 1/8" long (or length required.) N
b wet process porcelain secondary spool 1insulator, S0/ b
37, brown glaze A .
4 required size condult w/ servicehead(s) & req'd ¢ '
size & rated insulated conductors, Ref. Dwg ES-1B w
Note: provide clamp and ground conduit
e parallel groove clamp, size req'd ; BUR KDY SEKIES "UE”
f secondary insulator clevis for 4" {nsulator :
g 5/87 thimbleye nut e _L5/0
h 5/8™ x 12" (or length req'd) straight thimbleye 55/2
bolt w/sq. nut s ——— —
j transformer cluster mount bracket (small) 4 ALUMALORM 6M 3-&6 X
1 transformer cluster mount bracket (large) ; ALUMA-FORM 15M3-6 X
m req'd afze raintight disconnect & fuses, 3-phasge, m
600 V, Ref, Dwg No, ES-1B R 4 e
n 16" cross plate anchor (or size req'd) X-1lb i -
q 8-way expanding anchor (size req'd) s 86135 ;
t 4" brown glaze wet process porcelaln secondary Joro/
spool {nsulator :
u 5/8" x 7' thimbleye anchor rod w/nut (use twineye 5377 (WIT 55006F) i
Lf req'd - Chance No. 5347) . _ .
| #a_ | 3/8" high strength guy strand (10,800 1b,)
bd preformed puy grip for 3/8" puy etrand | e
dd 5/8" x 10" angle thimbleye bolt w/nut 5010 :
(_ee | _3"x3"x1/4"x11/16" hole curved washer _ e} 0 B23 V2 A X
ff 6" - guy clamp w/3-1/2" bolts B
PR medium size strain w:m.b»nOﬂu I
hh | serving sleeve for 3/87 puy atrand | 74454 ) -
K 3/167 x 2-1/2" x 7" 1ift plate . 7887 N X
nn pole bottom ground piate (may use butt-wrapp if ¢
desired) L
1q Ground Cennection (See Dwp, ES-12) E|
“rr | wet process porcelain secondary spool fusulator, ‘ .
' 3" - white glaze e .
tt wet process porcelain secondary spool insulator,
4'" - white glaze
. : DATE: . TITLE:
2277 . DESCRIPTION MATERIALS =270
DRAWN BY:
£ WINTER
CHECKED BY: PRODUCTION DEPT. HOBBS DIVISION
JOB: DRAWING NO& .- i
APPROVED BY: - ————
£LEC SPECS ES-/ T
SCALE: e - TSHEEr X OF
———— s




MATERIALS
PEASCRIPTION
LENGTH, (LAGS

*
i
=
-

ot
Z
:

LUY LEADS WILL P 11
Wou oM ANGLES oF 80°-90°

.

;

N
'%ﬁ,

e
a1

TOLE

ANCHOR "

ANCHOR. @ob 5/p " x 7!

auy nﬁyt._xmca PI%3A

LUY _(APLE. ¥n® :b

GUY WHULATOR.

EPOAY \NSULATOR. Kw>nzm4 * 2%230%-24

CLAMP | 2-POLT

GUY_4RIP, /et

12 nnb\u@‘»mz %'

i BRALE | 20" GPA,

12| LAG oerEM), 'AY

_1» STEEL, PIN P x B

14 | RALK. 1-POINT

B | epooL nEULATOR. | 30
1 | POLT, DA, Gty 12"
M1l poLT, MazZH, | 3/eh o /g

I

!
|

AMD 42 O ANGLES OF
gullﬂjq

|

|
N{R N Nl

D | TR F P

|

IO N

|

@ | POLT, MALH. %" 10"
5| POLT, MALH. | Ple"x 12"
2 | ENE_NUT w\@._
21 | WAsHER. | &_\; FLAT
72 | ulAoHER % D:Qma
LMOTES « RIS :cfﬂ_

: 24| Load T, @\»
P L ALL JUMPERS M) cOMNDUCTOR 2% _| PHMNE LONDUCTOR. 112,
\\\\. PHASES LWILL PoE INGULATED b | MEUTRAL CONDUCTOR. WD,
- T™YPE WIRE . 2711 PREF DE LD,

70 | PREE. DO, b

2. THID  CONGTRUCTION  SSTANDARD 21 | CLEVID, TMBLE

= &
10 PR LD O AL LINES  PAILT «Ww \L\%ﬂ.ﬂm«lﬂo.wrmﬂw\ mmuzrwv A
O NATIOMALL RESOUWCE. LAMD S, | e - R Teaaa
2. O HOT WYITALL RO1INMD LhRE m SULATO .< m_
PAGT  NEUTRAL CONDUCTOR-, 3 | IMSULATOR., b* DiGd.
L [ TIE WiRE Ko, b AL e

|
T
T NN CINGN T

J

3]
N

[N

|

i s

|

NSNS

|
i

[

.

e

DATE: @y TITLE PRIMARY AMALE STRUCTURE

DRAWN BY: bOP-A0° 2800 NIDLT  AAR.
L ervarei

CHECKED BY: \.*\ PRODUCTION DEPT. HOBBS DIVISION
‘o

JOB: DRAWING NO.t

L G

APPROVED BY:
4

ELAiC. SPEH. ES-21.

S e F




T

i

ERHNRERR
- X
RO N B Y R

S
/- i
&

)
NOTE. ¢
FOP. MATERIALS:  SEE
DRUGs, ES-|

g’!ia;

DATE: TITLE:
I-1% -1
DRAWN BY: EPOXY INGULATOR. (EXTEI 1ol LINK)
L e 1 ,
DESIGN BY: conoco
CHECKED BY: \.\ PRODUCTION DEPT. HOBBS DIVISION
"D

JO8B: DRAWING NO.t

] APPROVED BY:
sv

SCALE: ELEL., &PELA, o - 20
Wl




